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(Engllch Versmn)

No}te . (i)  You must write the subject-code/ ;aper-code 065 in the box provided on the title page of your
answer-book. - ;«
mym (1) Make sure that the answer—bookl'COntains 28 pages (including title page) and are properly
“‘% serialled as soon as you receive if
i (iii) Question/s attempted after Ieamfg blank page/ s in the answer-book would not be evaluated
(iv) No extra sheet will be given, so| ﬂrzte to the point. Do ot stnke the written answer.
(v)  Draw a line at the end of each questwn :
(vi) The question paper is divided mto three parts. ;
Part-I:  This section has fodr questions. ‘All questions are compulsory.
Q.No. 1 : It has eight sub—pafts It conszsts of eight ‘Multiple Choice Questwns of one
mark each.
Q.No. 2 : It has eight sub-pgrts. It consists of eight ‘Fill in the Blanks’ questions of one
mark each. : ,l N o ;
A ‘Q.No. 3: Ithas eight sub-pajrts.. ¢ égﬁsists of eight “True/ False statemént’ questions of one
mark each.
Q.No. 4 : It has four sub-parts It consists of four ’Match the’ Column’ questzons of one
mark each. .. . s ookt i =) ;
Part-11 : There are eleven queshons of two marks each Answer each questlon in about one-
two sentences. All questzons are compulsory.
Part-11I : This part has four quiestions of five tarks-each: Answer each question in about
five-six sentences. These questions. have 100% internal choice., . . .
i Part ST o v . '
Choose the correct answers to the fdﬂdwmg Muluple Choice QuestlonS Lo WA 8x1=8
()  Which substance is used to 1mprove the condition of alkaline soil ? e 1
(@) Lime : (b) Gypsum ' '
(c) DAP ‘ (d) Zinc Sulphate
(i) Allahabad Safeda is an 1mproved variety of Wh1ch froit.? . e ., i S 1
. (@) Guava (b) Apple Ry ' | |
(c) Ber : ; : (d) - Mango Bededh
(iii) Which breed of buffalo is also called ’Pan] Kalyam ? ' 1
(@) Murrah ~ (b) Neeli-Ravi
(c) Zafarabadi vin i o (d)s " Mehsana
(iv) Which of the followmg is affected by Mastitis disease ? 1
(@) Hens : . - (b)- Buffaloes
(c) Ducks ' . (d) ‘None
(v) How many eggs can Satluj Layer hen lay in a year ? i : '. ; 1
- (a) 150 - 165 ESE -~ (b) 250 - 265
~(c) 300 - 315 E‘l%f (d) - 360 - 365
S5-SS
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{
(Vi) What j v -
1s the fusion of male and femgale gaﬂetes called ? : e |
(@) Photosynthesis ElgE et [T 2y Y
(b Fertilisation v 5
(c) " Pollination
(d) None
(Vi) Which pl !
plants were selecteq by Mendel for llls experiment ? ' 1
(a) Pomegranate ) s '
© ' P A (b) | Ber
= % (d)""t Gram
(viii) What is Silkworm rearing called ? | ‘% ¢ 01 10 i
(@)  Vermiculture " (b) /Senculture
(© HOfﬁCUIhlre (d), Aplculture
El&%’ _
Fill in the following spaces by selecting the correct word from the brackets “iou 18x1=8
(i) -  Urea fertilizer contains mtrogen.l (46%/64%) 1
(i) Tikka dlsease affects ; ¢ (groun dnut /wheat) ' - 0 fen |
() Buffalomilkhas ____fat content than cow milk. (less/more) . ... 1
(i—v) | Ranikhet disease affects y kChickeas/ Pigs) . | ' 1
() AT plants are propagated by cuttmgs “(Péas) Sugarcane) B I ‘ s )
(vi) Carpel is thet: ...  #%= reproducuve organ of a ﬂower (Female/ Male) | TR |
LELN S 1 v <iav 35}
(vii) : is called ship of the desert (Horse/ Camel) T awibl 1
(vii) Homosapiens is the Scientific name ofz'.:»' ,, ;{_,,,. ol (an/cow) s viis oupt as il AT
Choose true/false from the followmg statements:: = et ahniune SjmBXlTs
(i) - The size of leaves remain small due to the deﬁc1ency of ch : ' -3
(ii) - Leguminous crops reqyu'(relessrﬁtrogeh. MOk - TR S SN ) Sttt - gl
(i) Punjab Neelam is an improved variety ot Ber. 1
(iv) Sahiwal is the most milk producing cow of Indian breed. 1
(v) Foot and mouth disease affects Chicken. -~ "~ LA .1
(vi) A good breed buffalo has thin skin. ‘ 1
(vii) “Roosi’Angoora” is a wool yielding breed of sheep. 1
4 . . EISE
(viii) The Salivary glands of Mammals are present in stomach. 3 s ‘1



-;:
Match the column : f 4
; i
Column I OF1C I Column 11
: (i) Kharif crops el r;,f (@) Lungs 1
’ (id) Chicken raised for meat purpose 'I (b) Paddy and cotton 1
(iii) Dicot plants : , (c) Broilers 1
(iv) Major organ .of respiratory system f'/ (d) Peas and Gram 1
st Past- I
Arnswer the following questions in one or-twqy sentences : © o 11x2=22
5.  Write any two benefits of Humus. ; _ : 2
v ISR o A 'J‘ s !I‘.%‘ -.’Af. { i v"j' "!. Wi v v’ e .‘ ,'; & 124 ':1.“.' ;':
6.  Write the names of four vegetables grown by nursery raising. ' 2
1 :~.'x‘.-«f',:n’ ) | A Fiwvis sty Feitiret (§
7.  Why sowing seeds by seed-drill method is considered best 2., . = ., S .
i Al A v ol qee Ve il :‘.'."'LAA TRt M N o R I A ' T 3ty ) v
8. Write any two characteristics of a good Cro‘p-i'otaﬁon.' (e . s { 2
¥ fo gD NG Y feeend rit g i £41 \
9.  Write any two advantages of debeaking of hen!r ~ « . i or G 2
1‘0’.';”":Write any four characteristics of Sahiwal cow... "7 R sdR e 2
- e 0y acsiilot TO SN cavanl o axde o0l i
11. Which points should be kept in mind to get clean milk from animals ? SR CREER 2
[12. Write the names of any four birds which are reared under Poultry. e a 2
13. Write any two differences between Monocot and Dicot stems. 2
14.  Write any four factors that affect Photosynthesis. E¥[F 2
[ CI[LEA
15.  What are the different phases of the life cycle of a grasshopper ? 2
[Turn over
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Answer the fol]owing questions in Five or Six senteices :

16.

17.

18.

19.

Write any five measures to prevent erosjon of éoﬂ by wind.

' OR b
Describe the cultivation of paddy under the follpwing heads :
(i)  Preparation of Land ! A
(i) Seed Rate
(iii) Time of Sowing
(iv) Harvesting

(v) Yield El%-a sl
(CI[L3 YN

Give a brief deécription of the daily operations of a Poultry Farm.
OR 5 | i o

Which points should be kept in mind while selecting milch animals ?

i

Which Laws of Heredity are given by Mendel ? Exiﬁlain any one law

OR ke
Briefly describe the methods of seed d15persal ot : ,
t with a diagram.

Describe the digestive systéin of rabbi
j OR Pl

Which animals are useful in human’s daily life ? Describe them.
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